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SECTION-A
Q1. a) Choose the correct answer. 15x1=15
i. If log8l=4thenx= a)2 b) 3 c)4 d)7
i. If(n+1)!'=12(n-1)!thenn= a)l b) 2 )3 d) 4
iii. The number of terms in the expansion of (2+3x)*are  a)4 b)6 ¢)5 d)infinite
iv. If(K,1),(5,5)and (10,7) are collinear, thenK= a)5 b) -5 04 d)-4
v. Periodofsinde=  a)T b) = 0= d)n
b) Fill in the blanks.
vi. The value of tan 1020°is
vii. Equation of a straight line parallel to x-axis is
viii. The radius of the circle x> +y* +2gx + 2fy =0 is
ix. Value of i’ is
X. Inverse of Ais equal to

Q2.

Q3.

c) State True or False.

Xi. sin 3A =3 cosA -4 sin’A
xii. The points (3,4), (7,7) and (x,4) are collinear then x = 3
xiii. Factorial of negative integers is defined
xiv. A system has infinite solution if D=0
xv. 3i%=-3
SECTION-B
Attempt any six questions. 6x5=30
a. A(10,4), B ( 4 9), C (-2,-1) are the vertices of a triangle ABC. Find the equation of the altitude through B.
b. Resolve mto partial fractlons
c. Find the inverse ofA ifA= [2
d. Show that (cos a + cos B)* + (sin a + sin 3)2:4(3052#
e. If two vertices of a triangle are (2,3) and (-3,4) and its centroid is (1,3),find the third vertex.
f. Ifa®+b®=7ab, prove that log (a”’) = % [loga+log b]
6
g. Find the fourth term in the expansion of (x + x%)
h. Prove that tan 13a - tan 9a — tan 4a = tan 13a tan 9a tan 4a
i. Ifthe points (1, 2), (-2,-10) and (3,p) are collinear, then find the value of p.
SECTION-C
Attempt any three questions. 3x10=30
i. From a light-house, the angles of depression of two ships on opposite sides of the light house are
observed to be 30° and 45°.If the height of the light house be 100 metres ; find the distance between the
ships if the line joining them passes through the foot of the light-house.
ii. Prove that sin 20°sin 40° sin 60° sin 80° =~
iii. Find the equation of the circle passing through the points (0,0), (2,0) and (0,4)
iv. Show that when x is small,
VxZ+4-Vx2+1 :l-%x2+6l4x4+ .......
v. Solve with the help of matrices

X+y+z=3
X+2y+3z=4
X +4y +9z=6



